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And the convergence problems that Dave addressed.
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The futures market links to the warehouse receipt and the warehouse receipt links to the cash market

The breakdown in the linkage between the warehouse receipt and cash market is being observed.


Futures and Cash markets won'’t
ever be exactly the same
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Market > Receipt Cash
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First let’s focus on the cash and futures markets

Exact replication of the cash market in the futures market is not expected because frictions exists (e.g. transport, storage)

Do expect the futures market to reflect the supply, demand, and quality fundamentals of the underlying crop


Warehf)use 9% >/\
Receipt

« At delivery of a futures contract the seller of
the contract delivers to the buyer

iy
— Not by way of a truck or railcar filled with wheat

— Warehouse Receipt that represents grain stored in a

facility j
« Can be held indefinitely by the buyer %/. )
—

 Storage cost of 4.5 cents/bu. Is paid per month

 Acts as the linkage mechanism between futures and
cash market
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The warehouse receipt market lies between the futures and cash market.

Right but not the obligation to load the grain out of the warehouse

Incentives are to hold the warehouse receipt and not link to the cash market.


@\
Why Is this happening?

Buy Warehouse Receipt -$4.96
Sell May Futures Contract +$5.07
Pay Warehouse Storage Fees -$0.09

g Profit $0.02
=
= Annual Return of
&
0.02 . 365 1100 = 2.5%
® 496 60
Cash Price $4.34
-4.5¢/mo | -4.5¢/mo | | |
2/25/10 3/31/10 4/30/10 5/28/10 6/30/10

Exp March Futures 5
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Incentives are to hold on to the warehouse receipt and not load the grain out of the warehouse receipt
Here is a brief example of how this would work.

With low interest rates this return is very attractive return.


Option to Repeat Strategy

Example (3/31/10)
Warehouse Receipt -4.96
Close May Futures Position +0.46
Sell July Futures Contract +4.73 Annual Return of
Pay Warehouse Storage Fees -$0.18 282 . igg 100 = 3%
Profit $0.05 '
July Futureg +4.73
M
D ay Futy
S TT———515.07 $0.12
E -4.6] o
&
March Futureg 4, 9
1 -4.5¢/mo -4.5¢/mo . -45c/mo | -45c/mo |

| |
2/25/10 3/31/10 4/30/10 5/28/10

|
6/30/10
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End of March if spreads are attractive
Option to repeat strategy by rolling over into the next maturity

Again, strategy is to the hold warehouse receipt and not load out grain which then does not link the cash and futures market.


$ / bushel

BN EAN

Wedge between Cash and Futures

March F Utureg $4.9¢

I

Cash Price $4.34

Optionality of the Warehouse
Receipt creates a wedge between
futures and cash markets.
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The futures contract starts to value the warehouse receipt and cash market values only the underlying cash commodity.

Larger the option or “future” value the larger the wedge (difference) between the futures and cash markets.

The option grows in value as spreads grow, corresponding to the demand for storage.  So the storage costs in the actual market would surpass that of charged by the exchange in some instances.
Even if the storage charge was in line the warehouses don’t want to fill up their storage space with unmovable grain




Can we see evidence of the wedge
In the data?

Number of Receipts
w
o
o
o

IIIIIIII'III
0 -

® Qutstanding ™ Issued

Note: Due to record keeping changes, data on outstanding receipts prior to 07/2009 may be incomplete

Roll
Over
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The vertical axis is the number of warehouse receipts and horizontal is contract expirations.

This is consistent with the incentives for return we just talked about.

All parties are acting in their best interest.  Warehouses not to issued additional receipts and holders not to relinquish control of their receipts.







BN VAN

How to Remove the Wedge?

» Left alone the market fundamentals will
eventually change and the option to hold the
receipt will lose value
— Higher interest rates
— Smaller spreads due to a tighter crop or additional near

term demand

 Make Strategy Less Profitable
— Higher Costs (e.g. seasonal storage rate, VSR)

— Limiting terms of the warehouse receipt
e EXpiring
e Devalue over time
* Non-Transferable

— Additional delivery options
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Explanation to get around uneconomical movement of grain.  If the buyer is afraid of their receipt losing value but does not want to load out grain then he has the option to sell the receipt back to the issuing warehouse.  Buyer can state a price and the issuer can decide either to accept the price and buy back the warehouse receipt or deny, in that case the buyer would have to load-out the grain.


Questions?
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That concludes my brief example of the warehouse receipt and convergence connection.

Are there any questions we can answer?


Supporting Slides

» Average Basis During Delivery Month
 Percent of Full Carry

 Commodity Index Trader Investment
e Protein of HRW Crop

* Registered Stocks

» \Warehouse Recelpts Issued

e \Warehouse Recelipt Turnover
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This is at Kansas City



Pct of Full Carry
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100% since May 19 , 2009



Commodity Index Traders Pct of
Dollar Activity in KC vs. CBOT
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Looking at explanatory variables, LIBOR, OI, returns, spreads

This is out of traders that participate in both market


HRW Protein of Crop
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Source: US Wheat Associates



Deliverable Registered Stocks
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Average Percent Capacity
Outstanding Iin Warehouse Receipts
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Of those warehouses that have receipts outstanding, not counting those that have not issued receipts
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(chg in outstanding – issued) / old # outstanding
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